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| Semester B.C.H.N./B.C.L.S./B.Com./B.C.T.T. Examination, December 2018
b (CBCS Scheme)
iz LANGUAGE SANSKRIT -1
Yakshaprashna Sangraha, Grammar and Comprehension

Time : 3 Hours : Max. Marks : 70

Instructions : 1) Answer in Sanskrit/Kannada/English.
2) Answer Q. I, V & Q. VI in Sanskrit only.

|. w3 foa | (10x1=10)
psfelesdnin &'ugdaﬁa’;;& 352 LWB00.
Select the correct answer.

1) WETHRA hid gerifor &f=< ?

) w=d -3 e 3) 3TeCTEN %) femifer:
2) ‘TeTIY: TR hieh gdfor gdd ?

37) afeqafor 3T) aue oY 3) sHuigdfo; 3) T
3) sfiere 7o A fehy 7 |

3) Jehlet: 1) o 3) HIdH: 3) JeL:
4) gfafserey uv =gl *: wdifeaard ?

31) g 3) 91 3) M 3) FOT
5) o i wafq ?

1) quE A1) TETERA 3) g 3) g
6) ’{ﬁﬂ'&ﬂ'{m? |

) WA 3T) T - g) fom 3)

© 7) o ufved: 3 ? .
3) g 3T) TfEae: T) HUs: 3) fogM

P.T.0.
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8) 1= & ufEhifdar ?
¥) peifadm o) wudafoem  3) sufae 3) SAreHTRETiar

9) SaFHA: T F: 7
3H) 9 1) g 3) 9t 3) HH:

10) By 9Ty grafest: = shfaghesfa ? _
) wEean ) FHH, 3) ¥ %) 3

I, BE: Jeal: 3 fored | (2x10=20)
DT @eiﬁ@ﬁ YVZOR.
Answer any two questions.
1) HETHRGET ITHHTOT S0 |
BITLRTSD %oéa:?oodaaigt ReIFR0.
Describe the greatness of Mahabharatha.

2) F&FITAHAT Tl forerd |
OBT THD FEHOR Ror &R WICWO.
W = :
Summerise the story of Yaksha prashna.

3) gergfafeswt: gy wer foraq |
o8 73 ChOOHTS BERegOrTR) Rorton LITC0

Write about the questions and answers ensured between Yaksha and
Yudhisthira.

I, SraToTT YARHT 3TFaTE el g | ' (3x4=12)
AT FREBNTR) BTHOR QFOR.
Translate and explain any three slokas.

1) ® Se3 B g SAshaTeTe =g |
I SIS SIS |

2) A1 ITETERIST Ug JRifed wefuq |
W WEfed T e 39 W g ||
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3) I dTd |Ted H1l: 7Y quig: |
ST i a4 e s = )

4) SEnfecagEf SareqeTiay=T: |
UHYETR Tl 9 9 9 whifiseh ||

5) AT T o fia: gearge: |
T 9 T e S gErsi )

IV. arerga ww=sf fogup | (2x4=8)
ST TENTF) FoTLE AT DF0.
Explain with reference to context any two sentences.

1) =2el qea ¥ e oty IR furfis |

2) 3Teheel ¥l FH fehsieawaaimaT: |

3) AT 7Y Yqawt qErs: |

4) St TS 3 o SfgamH | _ |
V. EERE N1 39 forad | (5x1=5)

) w2 fow - fawfF =ty fraq |

2) T
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HT) AT THL-TeY—Fe1H forad | ~ (5x1=5)

VI. 30 uf=a afdcan yemTg Iwafr foreq | (5%x2=10)

THT AT UfasaaT e | o1 farerang ywafd | 31d: uer ‘fuadl sfd fesn |
a7 3fd FROT: T Scafd ATeTy | T fSell: IIeTq Seus $edd;  fosygal’
zﬁfm|wwﬂwmzﬁa¢mzﬁ1@¥ﬁmmm 37EE | gEA=H
TR s[RI, ATATeTA ey ST | RIS Yesi s Hgiaq 31=ed |

BEE L
1) IR UfesayT 91 &1 ¢

2) T HEHT IcTHAT 7
3) T Y Yaq ATl 7
4) TTETET: 39T AT foRy ?

5) T hVA: TR ST ¢




